# Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills	-40	6-		lls	111	(12)						
register Company Name:	70			Regis	ster		011410					
	MRM	LLP	>	Site.	GIMP							
Name of Contractor	Ram	Ramed chardra May de										
Nature of work	TPLR	1	Livi	10	Most	o. V						
Work done	From Da			J	To	Date						
Sl. Villa/Flat/block no	Qty.		Rate		Units	Amou	ınt 	Contractors bill no				
1. Teles fixing	EXT.											
2 /	-06											
3. SRUA INCASH	1	8	13		SFF	146	SH					
4. Skryting 21	Y. 3H	8	1.	7	SAL	H5	14					
5. STUA 1660 (6	81112	8	4		SFF	45	12					
6. Shirting 11	1/ 34	8	Ä	Sta		1392						
7. 2005HU north	oil H	00	16	-	5+t	61	100					
	lat c	13	1.		SFF	12	02					
9.				'								
10.						/						
	otal:				1 111		79H □YES	7/20				
Bill required	□ YES ₹				bill requi							
Measurement &	Require				surement nate sheet		Enclos					
estimate sheet: PO/WO no.	□ Not rec	juired			VO date:		☐ Not enclosed					
Remarks:												
14, 21,	,											
Approved by Project Ma	anager	Appro	ved b	y Desi	gn Team	App	Approved by M.D.					
Date:	R	Date:				Dat	e:					
Sign:	-	Sign:				Sign		ang labour hills hi				

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

ESTIMATE SHEET	E						
Company Name: MRMLLP	MRMLLP				App	Approved by:	Ramprasad
Project:	Gulmohar Residency	dency			1	Sign:	
Work Description:	4' X 2' flooring tiles	4' X 2' flooring tiles and bathroom tiles laying in B-308	in B-308			d	
Contractor Name:	Ramesh Chandra Nayak	Vayak					
Prepared By	Srinivas.N						
Date:	14.06.21						
S No.	Item Head	Item Description	Quantity Units	Units	Rate	Amount	
_	vetrified flooring	SBUA 1660sft (68%)	1128.00 Sft	Sft	13.00	14,664	
2		Skirting 21%	348.00 rft	₽	13.00	4,524	
		SBUA 1660sft (68%)	1128.00 Sft	Sft	4.00	4,512	
		Skirting 21%	348.00 rft	<b>∓</b>	4.00	1,392	
ယ		(200sft per toilet)	400 Sft	Sft	16.00	6,400	
4	Ceramic	(93sft per flat )	93 Sft	Sft	14.00	1,302	
						32,794	

7								Nikhan	Virchen & utility				0.			Date: 14.06.21		Work Description: 4: X 2: flooring tiles and bathroom tiles ad tiles	V MINC	MEASUREMENT SHEET		
									(93511 per mer)	(200str per flat )	Skirting 21%	SBUA 1600sit (887)	vetrified Hooring	Item Description				hroom thes laying	the laving in B-308			
										93.00	200.00	348.00	1128.00		Length	Δ						
										1.00	1.00	1.00	1.00		Width	В						
						1				1		1		1 00	Height	C						
											1.00	2.00	1.00	1.00	IAOS	Nos	5			Sign:	Approved by:	
											0					Quantity	E = AxBxCxD				Ramprasad	
	-											aft	ıts	Rft	s#t	Units	ודי					
	*																					

#### Allowance for Consumables

Ramesh Chandra, Orissa.

Date: 12.06.21

In favor of:

**MRMLLP** 

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work: Towards: Tiles work
Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in B-308 flats at B-block. Total Amount = 32,794/- Work done from date 10.05.21 to date 01.06.21	Rs. 13,117/-

Amount in words: Thirteen Thousand One Hundred and Seventeen Rupees Only.

Sign: Ramelh

## **Bill for Equipment Allowance**

### Ramesh Chandra, Orrisa

Date: 12.06.21

In favor of:

**MRMLLP** 

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Tiles laying

**Towards:** 

Allowance for Equipment

	Description	Amount
S No.	<b>Description</b>	
1.	Brief description of work done: Tiles laying work in B-	Rs. 13117 /-
	308 flats at B-block.	KS. 151177-
	Total Amount = 32 794/-	
	Work done from date 10.05.21 to date 12.06.21	

Amount in words: Thirteen Thousand One Hundred And Seventeen Rupees Only.

Sign: Ramelh

### Bill for Labour Charges

RameshChandra, Orrisa.

Date: 12.06.21

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Tiles Laying

**Towards:** 

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in B-308 flats at B-block . Total Amount = 32,794/- Work done from date 10.04.21 to date 12.06.21	Rs. 6558 /-

Amount in words: Six Thousand Five Hundred Fifty Eight Rupees Only.

Sign: Ramelh

`

1

3

Ċ

•

•